
         

 

ĐÁP ÁN NỘI DUNG ÔN TẬP KHỐI 2 – MÔN TIẾNG ANH TOÁN 

(17/02/2020 – 22/02/2020) 

 

Exercise 1: Choose the correct answer for each question: 

1. 2 tens + 2  ones = twenty-two 

2. 8  tens + 9  ones = eighty-nine 

3. 4 ten + 6 ones = forty-six / 46 

4. 6 tens+ 7 ones= sixty-seven 

5. 8 tens + 0 ones = eighty 

Exercise 2: Choose the correct answer for each question:  

1. C 

2. A 

3. C 

4. A 

5. B 

Exercise 3: Matching 

1. Twenty-one plus thirteen equals thirty-four 

 

 79 - 22 = 57 

   

2. Thirteen plus fifty-five equals sixty-eight 

 

 21 + 13 = 34 

   

3. Seventy-nine minus twenty-two equals  

fifty-seven 

 13 + 55 = 68 

   

4. Sixty-eight plus thirteen equals eighty-one 

 

 57 - 14 = 43 

   

5. Fifty-seven minus fourteen equals  

forty-three 

 68 + 13 = 81 

   

 


